Dé Mairt 16u Meitheamh

2x10=____ 6x10=
3x2=_ 30 +6 =
3x11=___ B5x6=__
5x2= 7x7=__
30+5=__ 24+6=
M1x4=___ 30+10=_
6x2=_ 90 +9 =
10x3=__  99=+9=
55+11=___ 108+12=_
9x3=_ 10+2=
10 10

11 x1=

2x3=
3xh5=

88 + 11 =
56 + 7 =

11 x5 =
11x2=
11x6=
20+5=
40+ 5=

10

Scriobh ndta deas duit fhéin:




Gafale Matalch 68:1, 4,5

I —
1 agus 3 de thacar

1. Criochnéigh é seo.

(a) Ta dhuilleog san iomldn ann.

(b) Ta cinn diobh daite.

(c) % de =

9), () @ triantdn san iomldan ann.

(b) Té __ cinn diobh daite.
(0 de =
NN N S,

. (a) Ta licin san iomldn

Q%%SQ?QQ@QQ (b) Dathaigh 7 den tacar

(c) Ta cinn diobh da

- (d) de =
4. Bain triail astu seo anois.
(@1de10=_  i(b)idel4=_ Lo
OF TSR oI f(e)%de22‘“=
0 gebie | kdnss gch)%de30=%
de16=_§(b)%de28=_§ (©)F1dei36 = RN ()
g 0 Libi=__ e iebEe o

, ) Fak e L (k) Lde12= 40




7 and 7 of a set

1. Complete the following.

v (a) There are leaves oltogether.
(b)  of them ore coloured.

(¢) of =

2. (o) There are triangles oltogether. A A z

A A
(b) ___ of them are coloured. AWAWAWAWAY
W_ o = AAAAA
AANANN

(a) There are ____ counters oltogether.

| 00:80%000 (b) Colour}of this set of counters.
O O O OOOO (c) ___ of them are now coloured

(d) of =

4. Now try these. Remember, the doubles
@3of10=___  itijolté=___ oo il
@}of1Ba__  i@ioi2e_ iwje2e
) fofd0=___  ilgtof24= i }of30.

5. (@) Fof16= i) {of 28= (0 fofd6=_ i(d) {of20=
@ bofdm _ ith ofd0=__ (g fofB=__ i(w foféBe
M $of32e é(j)*o‘l- P00 fof12= i fof24

6. There were 44 apples in a bowl
Tationo took o quarter of them.

Write @ number sentence to show this: +of = w

7. (3of24)+ (Fof24) = + =

Challenge







